nu l EENEEESNNENEEEENEEN ' Zawarto$¢ opakowania/Package contents:

LB
[ AR §|
EEEN / / @ % } Uchwyt TV oraz: TV bracket and:
L R B | D P I I l I I M A) Sruba samogwintujaca M6 x3 A) Self-tapping screw M6 x3
am A(apch B(aFCS) C(",%S) b‘g’(‘:’;ées")e' MEA(Z(;%T B) Kotwa plastikowa Mé x3 B) Plastic anchar Mé x3 -
C) Podkiadka Mé x7 C} Washer M6 x7
y ’ } ? @ D) Poziomica D) Level
F LEXI MAXX 1 3" 50" : E; Sruba M4x12 x4 E) Screw M4x12 x4
~ MEX1IMM MEX12MM MEXISMM | ooo apcs) K@Pcs) F) Sruba M5x12 x4 F) Screw M5x12 x4
F(4PCS) G(4PCS) H(4PCS) G) Sruba Méx12 x4 G) Screw Méx12 x4
H) Sruba M8x15 x4 H) Screw M8x15 x4
1) $ruba z nakretka x 1) Screw with nut x4
J) Nakretka x4 J) Nutx4
K} Podktadka M6 x4 K) Washer M6 x4 )

Instrukcja montazu uchwytu Sciennego do telewizordw o przekatnej ekranu 13"-50" i maksymalnym obcigzeniu 35kg:

1. Uzyj ptytky sciennej uchwytu jako szablonu do wywiercenia trzech otwordw w Scianie betonowej lub $cianie z twardego drewna. Nastepnie zamocuj plastikowe kotki do betonu
w otworach. Zainstaluj poziomice na uchwycie. Umies¢ panel scienny na scianie i wkre¢ wkrety do drewna w plastikowe kotki, uzywajac metalowych podktadek.
2. Zainstaluj listwe motazowg z tytu telewizora. Jezeli twdj TV ma wigcej niz 37" dokre¢ elementy rozszerzajace. Wkre¢ cztery sruby w otwory z tytu telewizora, a $ruby powinny

by¢ dobrane zgodnie z rozmiarem otworu na $rube.
3. Popro$ o pomoc drugg osobe jezeli telewizor jest wieszy niz 43". Zawie$ TV na uchwycie, opcjonalnie przeprowac réwiez kabel HDMI przez podwieszenie. Zabezpiecz uchwyt

$rubami blokujgcymi. Wyreguluj kat telewizora wedtug preferencii i dokre¢ sruby blokujgce.

Installation instructions for a wall mount for TVs with a screen diagonal of 13-50" and a maximum [oad of 35kg:

1. Use the bracket wall plate as a template to drill three holes in a concrete wall or hardwood wall. Then fasten the plastic concrete dowels in the holes. Install a level on the bracket.

Place the wall panel on the wall and screw the wood screws into the plastic dowels, using metal washers.
2. Install the power strip on the back of the TV. If your TV is more than 37" tighten the extension pieces. Screw the four screws into the holes on the back of the TV, and the screws

should be sized according to the size of the screw hole.
3. Ask for help from another person if the TV is larger than 43", Hang the TV on the bracket, optionally pass the HDMI cable through the suspension as well. Secure the mount with

locking screws. Adjust the angle of the TV according to your preference and tighten the locking screws.

\(@

mbmn 10"-36" TV # K

377-50" TV mmmlpy-

Cable tie
-5°/+15°

PRODUCENT/PRODUCER/HERSTELLER:
AX TECHNOLOGY Sp. z 0.0. Sp k.

ul. Stoneczny Sad 4H

72-002 Doluje

email: kontakt@axtechnology.eu
TECHNOLOGY Tel.: +48 918173114

oPTICUM ®

ETeET @®

Thank you, Danke, DeicKsjemy [ o |




